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Q1 Q2 Q3 Q4 Q5 

3 2 2 1 4 

Q6 Q7 Q8 Q9 Q10 

2 1 4 4 3 

Q11 Q12 Q13 Q14 Q15 

2 1 2 3 3 

 

Q16)  
10823, 10832, 
18230, 18302 

Q17) 8 Q18) 6 x 7 x 12 
= 504 

Q19) 

 

Q20)  
3
4  

Q21) 12.5 Q22) 3.25 Q23) $10.80 Q24) 69.3 Q25) girl:boy 
6 : 5 

Q26) 88 Q27) 12480 Q28) 1152 Q29) 360 Q30) a) True 
b) not given 

 

Paper 2 
 

Q1) 1 - 
1
4
  = 

3
4
  

 4
8
9
  = 

44
9

  

 
3
4
  x 

44
9

  = 
132
36

  = 3
2
3
  

Q2) 56 years old 

Q3) 1
5
8
  

Q4) 5 : 20 : 12 
Q5) 0.5 x 24 x 24 = 288 ÷ 2 = 144 
Q6) 56 x 105 x 142 = 834960 
 834960 ÷ 7 x 4 = 477120 
 477120 cm3 = 477120 mℓ = 477.12mℓ 
Q7) 90 ÷ 3 x 10 = 300 
 
 
 



Q8) 10 ÷ 5 = 2 
 $7.20 x 2 = $14.40 
 $14.40 + $18 = $32.40 
 30 ÷ 5 = 6 
 $7.20 x 6 = $43.20 
 $43.20 - $32.40 = $10.80 
Q9) a) 252 ÷ 4 = 63 
  63 ÷ 7 = 9 
  9 x 13 = 117 
 b) 252 : 117 = 28 : 13 
Q10) 10.8 ÷ 4 = 2.7 
 2.7 x 3 = 8.1 
 8.1 + 1.045 = 9.145 ≈ 9.1 m3 

Q11) 
3
4
  X 

5
6
  X 200 = 125 

Q12) a) Devi : Sarah : Hamidah = 5 : 7 : 8 
 b) 5u = 85 
  1u = 85 ÷ 5 = 17 
  12u = 17 x 12 = 204 
Q13) TU 6 ÷ 3 = 2 
 PT  12 X 2 ÷ 2 = 12 
 UV  2 X 2 = 4 

 UVW  
1
2
  X 4 X 12 = 24 

 6 x 28 = 168 
 24 + 12 = 36 
 168 – 36 = 132 
Q14) Length of B = 9 
 Length of A = 6 
 Height of A and B = 6 
 6 + 6 + 6 + 9 + 9 + 6 = 42 cm 
Q15) 10 x 10 = 100 
 100 ÷ 16 =  6.25 
 6.25 x 4 = 25 cm3 
Q16) (18760 – 7672) ÷ 2 = 5544 (tables) 
 5544 + 7672 = 13216 (chairs) 
 1u of tables  5544 
 1u of chairs  13216 ÷ 4 = 3304 
 Diff of 1 item  $80 
 Diff of 1u of items  $5544 - $3304 = $2240 
 Number of itmes in 1u  $2240 ÷ $80 = 28 
 5544 ÷ 28 = $198 
 
 
 
 



Q17) a) Remains the same 
 b) 455 – 158 = 297 
  297 ÷ 3 = 99 
  99 x 2 = 198 
  198 ÷ 11 = 18 
  18 x 3 = 54   
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